


1.4 % 

Water MUST be leaving.  This would be because the solution has more 
solutes than cell does therefore water osmoses out (hypertonic solution). 

Facilitated transport 
����Also glucose is large and can’t fit through the membrane’s 

pores. 

Diffusion 
���� Also oxygen molecule is extremely tiny and can easily fit 

through the membrane’s pores and in between the 
phospholipid molecules themselves. 



Because it is permeable to some molecules and impermeable to 
others.  It “selects” what passes through. 

Membrane has microscopic protein lined pores which are large enough to allow 
water to pass through them, yet they are small enough to prevent larger 
molecules from passing. 

Membrane pores are too small to allow larger molecules to pass through them, so 
there are proteins embedded in the membrane which bind to molecules and 
bring them in. 

The membrane is fluid and flexible enough to fold in on itself.  It can envelope 
bits of liquid. 



 

X is a protein molecule 

i. facilitated transport 
 
ii. active transport 

 
iii. osmosis/diffusion of small molecules in 

through the “holes” or pores made by the 
proteins. 


